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CLASSE 2* A LICEO SCIENTIFICO 28 Marzo 2019

Disequazioni di secondo grado

Risolvi le seguenti disequazioni:

1. 3(x—1D)xx+3)>7+2Bx—-2)

3(x2+2x—-3)—-7-2Bx-2)>0 3x24+6x—9—-7—6x+4>0
3x2—-12>0 x2—4>0 X1, =12

“ / -2 v x>2
NP4 "

2. x2—(2V3-2)x+3-2V3>0

X1,=V3—-1+ [3+1-2V3-34+2V/3=V3-1+1= V3
’ V3-2

l ) x<V3-2 v x=>+3

x> +4x-5<0
3. {x2—-2x+1>0
—3x<0

x1,2=—24_r3=<_15 \\/‘y/ s5<x<1

(x—1)2>0 w ‘ x =1
|

{—SSxﬁl

x*1 ! 0<x<1
x>0 . !

" (x2-6x<0

x1,2=i\/§ x<_\/§ \% x>\/§

4=0 x,=6 \‘W/ 0<x<6

x<—V3 v x>+3
{OSxS6 V3<x<é6




5.

6.

mo la

atematica
www.amolamatematica.it
CLASSE 2* A LICEO SCIENTIFICO 28 Marzo 2019 Disequazioni di secondo grado
4x + 5x? -
x2-1 -
4x +5x2 —x2+1 4x2 4+ 4x+1 (2x + 1)? 5
2 _1 = WZO ﬁ_ x“=1>0 X2 =%1
\_ |/ :
W x<-1 vV x>1 Vv x=-2
x?2-1 1 1 2
—_——_,C -
2x x 3 x
3(x2-1)—6—2x + 12 3x2—-3-6-—2x+12 3x2—2x+3
<0 <0 <0

6x

A
=1-9<0

x x
3x2—-2x+3>0 vx € R

x<0



